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NOTE: Attempt all fuestion of Section-A by nllmg the © om,vpondmg bubble on the MCQ ANSWER o
SHEET and return it fo the Supetintendent within given txmo, even iftyou have not altempted any question,

Time :20 Minutes : ) ) Marks:12
SECTION——A i ' , © "
1 Energy obtamed by breaking up 1 Kg of nuclear fuel 1& cqual to the energy oblained from '
" breaking .... .... tons of coal.

(A) - Two Million  (B) Three Million  (C) 1’our Million (D) Five Million
Micrometer serew gauge can measure very. short length such as thickness of metal sheet or

2'. the diameter of a wire up to ............ . _ : -
- 0.0 mm B) 0.001 mm-. © . 00lm (D) 0.lcm
3. The length of actual path followed by a body durin it§ motion is called ..........

(A) Displacement (B) Velocity (v I Distance D) Position
4. The slope of distance ~ time graph is called . . o
(A)  acceleration . (B)’ Velocity + (C) ILisplacemcnt D) Speed
5. Mass of a body is 10Kg its weight willbe . ' ' '
Cé

A 10N (B) 5N 100N D). 1000N
6. According to second condition of equitibrium the net thrque acting on the body be ......
A Maxiium, (B} * Minimun (Qf - Zero ()] Positive
7. A 100 N force acts along the x-axis, its y-component i i$ i : -
@y ON - By 50N ©. { 10N .- (D) . 20N

8. A1lKgmass has a K.Eofl Joule when its speed is , K

@A) 045msT (B) ms* (& l4msT - (D) 4.4ms™
9. The dgnsity of water at 20°%and 1 atm is'.......... '

. (4 1000Kgm® ¢ 13600Kg m™ 3 (C) 650Kg m™ D)  880Kg m?
106, The magmludc of absol(tll;c,/?ero on Celsius scalc [ S

A - 273% -=273% 7 AC), . 100% D) 37% .
11, The 5.T unit of specific heatis ...... - :

ay K osf Kg'K' . (0. KKg! D) JKKg
12. Radiation from the carth is sbsorbed by watcr vapoursand ...... in the atmosphere.

) Hydrogen l‘f{; Carbon dioxide (C) Nltrogen (D) Oxygen
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- Q2 Attempl any efght of the following. All carry equal marks.

[, Write the contributiorrof lbnal Haitham.in Physics,
il Can a body at rest be regarded in state of motion? Give example
il How can you determine the centre of gravity of Imegular shaped body?
. Whyiti is not easy to whiri a hammes by alonger chaln? - : s
v. What do‘you mean by the term*Energy Transformation™? Support your answer by two examples
vi. Which material Is more elastic, stes! or rubber and why?
vil. Briefly explain the anomalous behavior of water, . '
viil. Why a file fioor feels colder to bare feetthan a carpeted ﬂoor? o
i, How wet clothes become dry quickly In washlng machine dryel’?
X. Briefly explain thermometric property.
xi. Differentiate between conductlon and convechon . : R
AN ‘ o ) SEGTION—-G oo Marks:21
Note: -Aftempt any three of the followmg questlons Al questions carry equal marks B
. Q3. (a) State and explain Newton’s first law of motion, - -
(b) What force would be needed to produce an acceleration of 10ms 2|n a ball of mass 0 5Kg
Q4. (a) Explain the rectangular comppnent of a vector, with the help of example. -~ -
: (b) A girl pushes to open d door with a force of 25N, the door handle is at distance of 0 6m from the
hinge, find torque.
Q5.  (a) Determine the mass of earth by applymg the law of gravnatlon Coo T
{b) Calculate the value of dcceleralion due to gravity on the surface, of moon If the mass of moon is
- 7.4x102Kg and Its radius Is 1740 Km (G=6.67 x 10INm2/Kg?) -
Q6.  (a) Define potential energy. Prove that P.E=mgh.

{b) A'man whose mass Is 75Kg walks up a ﬂlght of 12 sleps eath 20cm hlgh in § se¢. Find the power :
he develops In watls.
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